WINAM GROUP

SPORT

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

DATE: 11.9.2015

081510M

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



N

SPORT PLAY
DATE: 15.9.2017
PCS 705018 |pcs 705034 |pcs 705101 PCS 705329 |pcs 705345 |pcs
m 7 1 j 2 2 7
120x120x1170 120x120x1990 120x120x720 120x120x1520
705392 |pcs 705439 |pcs 705505 |pcs 705520 |pcs 705586 |pcs
1 2 4 y 1 2
/ 4 /
2360x200x120 2911 @400
706040 |pcs| 706041 |pcs| 706043 |pcs| 706044  |pcs| 706045 |pcs| 706046 |pcs
1 1 1
706047 |pcs| 706048 PCS 903191 |pcs
[ 1 [
M10x40
903192 |pcs 905104 |pcs 905761 PCS 905830 |pcs 905838 |pcs
20x200x400 M10 120x120x700 123x123x40 1060 Lime 20x200x300
906566 |pcs 906576 |pcs 906630 |pcs PCS 980104  |pcs
] ] ] ] 7]
=it ||
| | 8x60 | | @5x90 ]
980114 PCS 980123  |pcs 980131 pcs| 909256 pcs| 705024 pcs| 909633 PCS
36 | 168 7 | 180 | EN 8 |
@
@4x20 @7x60 @6x60 16 /8.4x1.6 15x640x560 M8

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081510M 'd 2(2)

SPORT ~

DATE: 15.9.2017 PLAY
905936 PCS| 909855 PCS| Acryl + sticker [PCS| PCS| 981 ?99 PCS| PCS|
2 7 PHO T Tg
W
/ S

L 652 ] M8x35 - 640x560 - ] M8x45 ] ]
= = = = = =
= = = = = pes
= = = = = =
PCS PCS PCS PCS PCS PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081510M

SPORT DATE:  11.9.2015 4

Grid size = 500 mm 1:75
I .
0 3
8560
6220
3840
1580

o o o o

@ S 3 ] 500

- —=| /590 - - ‘;E

—O O O

081425  Q 081430
g 081415
1180 ] 2 3B
AN| < ~
N % ®
(@] (@)
3000 2230
{5 -0 O
i 081402 o
(@]
n
s 0]
3 1180
680 "D(L J)
2 {::::) S| 081435
O ~
—0Q 081420 O O
081416
° 1360 2 o Ol o
D Q 9 9
O
225
1590
6220
8540
10700

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081510M

SPORT DATE:  11.9.2015 5

_— Area of Movement 80.1 m2
Max Falling Height 420mm 1:75

10620

I O N N Y N N | |

8440
[
P
8500

10700

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081510M
SPORT DATE:  11.9.2015 5A

2125

el

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081510M
SPORT 8

DATE: 11.9.2015
<%%|Hi> 1%%'!!’ 1%%'%%’
<%H|HE}

081425
081475

081435
081416

081402

Max Falling Height

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

081475M

SPORT 8.10.2014 1(1)

pARTS [ 705024 [pes|(2) 705345 [pes
DET 17 dai 2]
M 15%640x560 | | 120x120x1520] |
(3 909633 |Fes|(@) 905104 |pcs|
8 8]

DET 3 Q/ @ @)
== oL

) y M8 M10

- (5) 905761 [pcs|(8) 905830 |pes|
/ @ /ﬁ\ 2] 2]
120x120x700| | 123x123x40 | |
(7) 905936 |Pcs|(8) 909256 |pcs|
2 32|
»‘:‘ ] B

.
L=652 | | ©16/8.4x1.6] |
(9) 909855 |Pes|(10) 980104 |Pcs
8 2

)
BASE @WW
DET 7—9 or 1—4
M8x35 | |  @5x90 | |
1:25 |() 980123 [pcs s
20 -
000 e
. . . |

100

1550

650

1650

M8x45

770

890

640x560

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP (081430M

SPORT DATE:  25.8.2017 - 1(2)
(1) 706048 [pcs|(2) 705345 |pcs|
@ 1] 1
" |120x120x1520] |
(3) 705439 [pes|(3) 980114 [pcs|
2] 4
g

] @4x20 -
(5) 905104 |pes|(6) 905761 |pes
4 a
Mo | |120x120x700] |
(7) 905830 |pcs|(8) 980104 [Pes|
% 1 il
123x123x40 | | @5x00 | |
980123 [pcs|10) 909256 |pes

20 20
g7x60 | | @16/8.4 | |

BASE
DET 1-4
OR 7-9

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP 081430M
SPORT DATE: 25.8.2017 2(2)

1:25
o o o o
© < 2 < <
E 8 2 & 3 3
o o
~ ~
o
o
[ < ‘D] TD7
1:40

Area of Movement 8.8 m2
Training Space 4.6 m2
Max Falling Height 0 mm

420

1500

2720
3130

130

1500

2000

3420

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

081420M

SPORT DATF:  25.8.2017 = 1(2)

(1) 706046 [pcs|(2) 705018  [pes
1 5 |
- |120x120x1170[ |
(3) 705505 [Pcs|(4) 980114 [Pes|
d =l

g\;% M
B @4x20 ]
(5) 905104 |pes|(6) 905761 |pes
12] 5 |
Mio | |120x120x700| |
(7) 905830 [Pcs|(8) 980104 [PCs|
5] S

@ PARTS M
, DET 33
Ve 123x123x40 ] @5x90 B
(9) 980123 |pes(i0) 909256 [pcs|
] 44 i
q g7x60 | | o1e/8.4 | |
PCS PCS
@)

—{705018 | -
PCS PCS
PCS PCS

WinAm Groun / nlavaround com vn / info@olavaround com vn - (028) 22 494 333



WINAM GROUP (081420M

SPORT DATF: 25.8.2017 2(2)

1:25

270

235

|

1305
1140

100

680 680 ‘

Area of Movement 15.1 m2
Training Space 3.1 m2
Max Falling Height 0 mm 1480

~

1500

/

810
3810

1500

2000
4480

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




‘A’Ih“‘lNI‘Ci"()IJI’ ‘)i;1‘4"|()“n

SPORT DATE:  25.8.2017 d 1(2)
(1) 706043 [Ps|(2) 705018 |pes|
D 1] 2]
| |120x120x1170| |
PARTS 980123 |Pcs|(4) 980114 |Pes]
905830 906576 16 4]
= @wmw
{
o7x60 | | @4x20 | |
(5) 905104 |pcs|(6) 905761 |pes|
8] E\ 2]
| 120x120x700| |
(7) 905830 |pes|(8) 906576 |pcs|
123x123x40 | | 1960x130x60| |
(9) 980104 [pcs(10) 909256 |pcs
2 16
véfwwww !!:!D
o5x90 | | @16/8.4 | |

BASE
DET 1—4
OR 7-9

PCS

WinAm Groub / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP (081410M
SPORT DATE:  25.8.2017

2(2)

1:25 1:25
o To)
5 Q 3
~— o M
= & -
o
o
1 v ‘DY 151
2230
I
Area of Movement 14.8 m2 1:40
Impact Area 14.8 m2
Training Space 7.4 m2
Max Falling Height 1200 mm
2350
o o
Cr 0 Lo 5 2
I )
o
M
o
3
Q
$ e
%
3100
5350

WinAm Groub / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

SPORT

081416M

DATE:

25.8.2017

1(2)

905830

906316

PARTS
DET 19-21

BASE
DET 19-21

(1) 706045

pes|(2) 705345

PCS

2

(13) 909256

216/8.4

S

U

,
‘ l
\

~
"
QXA

(

20x200x300

120x120x1520
(3) 705101 |pes|(4) 980114 |pcs|
a 4
= | | oamo | |
(5) 905104 |pes|(6) 905830 |pes
8 | % 2
MI0 | | 123x123x40 | |
(7) 905838 |pes|(8) 980104 [pcs|
/ B B
1060 Lime ] ?5x90 ]
(9) 980123 |Pcs|fo) 905761 [PCS|
F ] ;ﬁ\ )
@7x60 | | 120x120x700| |
(11) 705432 [pcs|(2) 901487 [pes|
1] =
¥
gaoo | | wmioxs0 | |
(15 903191 |
2
2 M10x35 —
v 5 (902252)
©20/10.5x2
/(901302) Pes|
____M10 -
(909637)
~_19x21x25
(903193)  —

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP g1416M
SPO RT DATE: 25.8.2017 2(2)

1:25 1:25
n n 0 8
o) 0wl o ¥ 2
© ©| 0 <+ 3
— —| 0 ~—
_ o
o
o -
| S ‘D]
[ v g
590
350
1180
|
Area of Movement 13.6 m2 1:40
Training Space 3.1 m2
Max Falling Height 320 mm
1300
76\ (@)
@
\0 8/—\\
L 1500
i1 0

620
3620

/

2000

4300

WinAm Croiin /! nlavvaroiind com vn / infoammMnlavvaroinind com vn - (D22 29 404 R




WINAM GROUP
SPORT

081405M

DATE: 31.8.2018

1(2)

DET 11,12

BASE
DET 7-9
or 1—4

(1) 706041

pes|(2) 705590

-

120x200x2294

PCS

1

(3 980114
e

@4x20

pes|(4) 905104

()

M10

(5) 905761

pes|(6) 980123

120x200x2294

120x120x700 @7x60
(7) 909256 |pcs| pes
8] -
216/8.4 | | ]
PCS PCS
PCS PCS
Boom options:
705590-602 Dark Brown
705590-603  Light Brown
705590-604  Gray

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP

081405M

SPORT DATE:  31.8.2018 2(2)
1:25 1:25
o
o
~
| | o
AV
2165
I
Area of Movement 14.6 m2 1: 40
Training Space 7.7 m2
Max Falling Height 275 mm
4295
2295
o o
T T T T T T T7J 1500 g =
I M
o
M
o
o
0
5295

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP sarE GRaASsS, perustusohje |

DATE: 29.6.2015 rLAY
Syvaperustus Pintaperustus
Hiekkatekonurmi joustoalusta 70mm Hiekkatekonurmi joustoalusta 70mm
kivituhka 0—8
+20 ] +20 ]
+o TTTTTTTTTIT I T I T TTITIT I T HHHHHH\HHH\‘U\ +0 TTTTTTTTITT T I T T T TIT T ITTT HHHHHHH\\\}[/\H
0 o-0-4d |o Q\Od o 0,09 19,044
~100 — SR o O %0 O _ %0 (]
o, 7 oy —9220 O oo QO\/O OIC
Hiytts 0-32 . /e V4 QOQO = -
dytto O0— o) o 7
Lo o %C%CQ f\%—)@ S
/O o O O o O W@ 4 <>C
o o
—600 O | \\O/{? = o
=9=0:0:0;
kantava ja suora pohja
S A
(O A O
W Q(DQK metalliverkko @8 #150
kantava ja suora pohja betoni K30 (min. 150mm paksu)
betoni K30 (500x500x350)

Syvdperustus

1. Kaivetaan 600 mm syvd kaivanto pinnan korosta. Jotkin vdlineet tarvitsevat syvemmadn kaivannon
(katso tuotteiden asennusohjeet).
Huom! Kantava ja suora perustusten pohja.

2. Asennetaan vdlineet.

% Valetaan betonit. Jotkin vdlineet voivat voatia isomman valun, katso yksittdisten tuotteiden
asennusoh jeet.

4. Tdaytetadn 0—32 oikeaan korkoon.
5. Tiivistetddn tadytto.

6. Tdytetddn kivituhkalla (0—8) n.30mm kerros jonka jdlkeen tasoitetaan ja tiivistetddn
hyvin.(+ /=10mm /4m oikolauta)

7. Tdmdn Jdlkeen asennetaan nurmi (katso asennusohije).

Pintaperustus

1. Kaivetaan 220 mm syva kaivanto pinnan korosta.
Huom! Kantava ja suora perustusten pohja.

2. Valetaan betonilaatta (min. 150 mm paksu). Koko riippuu kentdn koosta (S,M,L).
3. Asennetaan vdlineet.
4. Asennetaan joustopalat ohjeen mukaisesti (katso asennusohije).

5. Tdmadn jdlkeen asennetaan nurmi (katso asennusohje).

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP  SAFE GRASS, foundation

DATE:  29.6.2015 | N 4
Deep mounting Surface mounting
Artifical turf Safety Base 70mm Artifical turf Safety Base 70mm
0—8 grit gravel
+20 ] +20 ]
+O TTTTTTTITTIT T T T TITTITTITTTT HHHHHHHHHH‘LH +o TTTTTTTITTTI T TTITITTITTITITITTT HHHHHH\H\!A\H
0 o-o-’d |o Q\Oé o O-O0-4 10204
—100 : A @) O O 0O O O O C
oy 7 oy —220 OoYo Ooc¥o O,
0—32 grit gravel o L - Aanad COCO (-
— V4 @] @) e} Ve
’ o o PE@ SO
Do O] |0 o (O TP LD
=9=0 <
O O
—600 O | \\0/3 - van
s 005005 e
compacted soi
| AN @
SIS e RS o)
W /Q(D/Q( metalsheet @8 #150
solid and . .
compacted soil Concrete K30 (min. 150mm thick)
Concrete K30 (500x500%x350)

Deep mounting

1. Start by digging 600 mm deep excavation. Some equipment may need more depth, see assembly
instructions for individual equipment.

Assemble the equipment according to assembly instructions.

Make concrete blocks. Some equipment may need bigger block, see assembly instructions.

Fill with 0—32 grit to correct level.

Compact the layer.

Spread 30 mm thick layer using grit 0—8 gravel. Compact and level it thoroughly. (+/=10mm /4m)

Assemble the safety base according to assembly instructions.

@ e N

Assemble the turf according to assembly instructions.

NOTE: Also the soil below the starting level (—=600) needs to be solid and compact.
Surface mounting

1. Start by digging 220 mm deep excavation.

Make concrete plate, see illustration (min. 150 mm thick). Size depends on the size of the Parkour
field (S,M,L).

2
3
4 Assemble the equipment according to assembly instructions.

5 Assemble the safety base according to assembly instructions.

Assemble the turf according to assembly instructions.

WinAm Groun / nlavaround com vn / info@olavaround com vn - (028) 22 494 333



WINAMGROUP (081402M

SPORT 25.8.2017 = 1(2)
(1) 706040 [Ps|(2) 705018 |Pes
1 2
- |120x120x1170] |
(3) 705369 |pcs|(2) 980114 |pes
905830 1 4
Qs
| oax20 | |
(5) 905104 [pcs|(6) 905761 [pes|
8 ;ﬁ\ 2]
M10 | |120x120x700| |
(7) 905830 |pcs|(8) 906566 |pcs|
% 2 i
123x123x40 | | 1960x235x60| |
@ 980104 |pcs|10) 980123 |pcs
2 F 16
@5x900 | |  @7xe0 | |
L

(11) 909256 |pcs PCs

16
BASE @ o ]

DET 1—-4
OR 7-9

g16/8.4 | | -
PCS PCS
PCS PCS

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP

081402M

SPORT DATE:  25.8.2017 2(2)
1:25 1:25
o) o o
= & 5
o
o
[1 v ‘D! \D1
2230
I |
Area of Movement 15 m2 140
Training Space 10 m2
Max Falling Height 0 mm
2350
1500
3 g
== {{J o 2
N[ ™
o
(o]
o
3
S 0
~N
4100
5350

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

SPORT DATE:

081415M

25.8.2017

e 1(2)

PARTS

905830 905838

PARTS
DET 19—-21

BASE
DET 19-21

(1) 706044

pes|(2) 705329

PCS

2

120x120x720

(@ 705101 [pcs|(4) 980114 [pes
1 4

&= 24x20 | |

(5) 905104 |pcs|(6) 905830 |pes|
8 | % 2

M10 | | 123x123x40 | |

(7) 905838 |Pcs|(®) 980104 |PCS

1060 Lime ?5x90
(9) 980123 |pes|i0) 905761 [pes|
F 16) E\ 2
@7x60 | | 120x120x700| |
(1) 705432 |pcs|(2) 901487 [pes

Q

(3 909256

216,/8.4

&

20x200x400

M10x40
PCS
2]
M10x35 —
5 (902252)
©20,/10.5x2
P (901302)  |Pcs

@
Ei;?j\\\\19x21x25
(903193)

(909637)

WinAm Groubp / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP

081415M

2(2)

SPORT DATE:  25.8.2017
1:25 1:25
2 8 o 2 9
00 0| ©
N o
o o
R -
N
a ; g H
590
250
1180
Area of Movement 13.6 m2 [
Training Space 3.1 m2
1300

Max Falling Height 420 mm

%

610

/\\

{0

1500

/

3610

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



A
WINAM GROUP S

081435M
SPORT DATE: 25.8.2017 P I— A ‘( 1 (2)
(1) 706049 [Pes|(2) 705345 [pcs|
1] 2]
905830 @

" |120x120x1520 |
(3) 705520 |pcs|(2) 980114 [pes|

e
o4x20 | |
905761 [pcs|
2]
M10 | |120x120x700| |
(7) 905830 [pcs|(8) 906630 |pes
2 4
2] / 4]

@)
123x123x40 | |  @8x60 | |
(9) 980104 |pes|(10) 980123 [pcs|
2] | 8]
@5x90 | | @7x60 | |
(1) 909256 |pcs| pes
18] -
o16/8.4 | | ]
Note: .
Huom!

Note:
Water hole.

Huom!
Vesireikd

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAMGROUP o o0
SPORT DATE:  258.2017 2(2)

1:25 1:25

e

1655
/
\
1555

1035

100

44:02

720
Area of Movement 10.7 m2 1:40
Training Space 3.1 m2
Max Falling Height 0 mm
910
//\
" m\

3220

d

220

1500

y

2000
3910

WinAm Groub / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

081425M a
SPO RT 25.8.2017 s 1 (2)
(1) 706047 |Pes|(2) 906632 |Pes
1 1
BARTS (3) 705347 |pes|(a) 980123 |pcs|
DET 16 a ﬁ d
PARTS | |_oreo | |
SET 55 5 |© 980114 [Pes|(6) 905104 ecs
’ 4 4
gax20 | | w0 | |
905761 |pcs|(8) 905830 |Pes|
1 1
|
c 2
|/ y
e 1906632 - -
|% 120x120x700 123x123x40
% (2) 980104 |pes|f0) 980131 [Pcs|
-~ N 7]
5
-
E
%
0 — —
@5x90 26x60
(11) 909256 |pcs pes
4

©

216/8.4

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP

081425M

SPORT DATE:  25.8.2017 2(2)
1:25
8 3 2
N < -
o
=)
R
Area of Movement 7.9 m2 1:40
Training Space 3.1 m2
Max Falling Height 0 mm
130

)

130

1500

3130

2000

3130

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

Impact Area EN 1176

REF:

DATE: 20.2.2018

]

3

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y

M

h <1000

Materials with significant
impact attenuating

fine gravel 0—8 mm
B e
SR L 44

Py
a

G oac G4 a4ga
2<% 10 cm i
4.4 - 44

Note. For accurate values, see
manufacturer’'s instructions.

properties. gross
unsorted sand
@wcmi%
h <3000 Loose fill material
E.g. Doee 0T
sand/gravel 0,25...8 mm D60/D10<3,0 | 2 Lot ¢
Woodchips 5...30 mm i ¢ ae O l. o,
bark 20...80 mm < . ) “
e L SR SR S U 1
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m 1 A2 L SL //Ls‘
60 mm ~> 1,8..2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m = s l-soi-T-TH

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


A
WINAM GROUP )

REF:
EN 1176 FOUNDATION DATE:  20.2.2018 SLAY

REMOVE SAFETY SURFACE/SAND/GRAVEL
TO CHECK FOUNDATION

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PAYL

SPORT DATE: 8.12.2016 1(10)
DET 1 DET 2
V16 1 > 150 .
9| {O——1 7
: 5 g e 120 Nm
s @ . M16x170
o [[O]] ] = '
= . ] x : Go o
2 S So ) - d% o°
T i 9°),9°8ge 9°Bge 97 9" dege
N RS S S 55 S S R R 5
905/380 / 160 Concrete / Betoni K30
DET 3 DET 4
)/ x60
(980123)
M10
(905104) 716 /8.4
(909256)
905/80
DET 5 DET 6
N n N
l 540 l 64%
@)
N O
O
I | E R I
K4 % .oo égjooooooo.. OOOSOS o9 Oé | rrr
2 g 1 oQ __Q A v
P rrrrrrrrzrrrrrrnr
CONCRETE 300x300x1500




WINAM GROUP BASE

SPORT DATE: 2112018 — LA 2(10)
DET 7 ?8x400 (x2) DET 8
A 500 HW
\/
i
Oqj O |
O OOO%O /03000 -
o [YeF 5w ] M10 b
D ooog0| [0 3% i (905104) ®
VZANVZANV/ VANV N N X @
905761
_©00x500 —
Concrete / Betoni K30 —
DET 9 DET 10 U
@7><6O A 500 HW
\/ |
(980123) I
%
O
@ A NV
9 o 00010 ? Of o O
S N R ka L2 O
716 /8.4 U Oy aae| ) fegee
<909256> = VZANVZANVZ A SN0 0N 0NN N N N X
S00xo00
-y Concrete / Betoni K30
DET 11 DET 12
N
oL &
57x60 > O
(980123)
M10O
<905WQ4> @W@/Sﬂr
(909256)
NS ___/
N S NS

WinAm Groubp / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP BASE %'

SPORT DATE:  29.4.2015 r 3(10)
DET 13 DET 14
16 1 > 130
[ o ) O
o o e e |l 120 Nm
S __ 00 __ @ A m M16x1/0
O
2 |[[O]O] | | 45l
s 2 — olo— s @OOOC>°OOO@ : d°ge
© O °o0  O° )
/ O rogger OTgO”° OO Q °oc°
90600/ L 230 J R I FTFTT
Concrete / Betoni K30
DET 15 DET 16
9 ™~
7 DR
3 07x60 > ® .
= (980123)
(905104)
By
316 /8.4
(909256)

906557/

DET 17 DET 18

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

BASE

DATE:

N

¢

29.4.2015 — /N 4(10)

DET

20

J10 V90

<4X>/

)

>100

o ° Oe o OOO g
9® o° 9 Q°Ooc : Q"qo" o
o Q° L o o c
¢ o R .

NONTSENS TSN TSN
Betoni /
Concrete

22

Safety surface

DET
AT
O
O
O )
v €
a — -
fi%(ﬁ = = i
N AP A7)
830
DET 23
902272
| 902277
BInE M10x25
= & = (909639)
“Je © ° - 909519
! @2@/%}5
572\ (909638) 9 ©
) M10 y
i (909637) M10 N ©20/10.5
902272 (909637) ™ ® (909638)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

BASE

A

s

SPORT DATE: 29.4.2015 — LA 5(10)
DET 25 ~- |DET 26
Esireikad Pre—drill hole.
705412 /
210 1 90
55 Nm
) <« M 0x100
Ook K o
905743 - : - BN ;P°$o
e Betoni / Concrete K30. O
MO _— e i S
afety surface A
DET 27 DET 28
/05096
//////E 906140
905745
M10x100 H TNl L e .
(909628)
DET 2 Esireikd / Pre—drill hole. DET 30
@10 1 90
59 Nm
<« M10x10Q
%
Betoni / Concrete KJ30. =
Safety surface A

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




A

WINAM GROUP BASE o/
SPORT DATE: 29.4.2015 — LA 6(10)
DET 31 DET 32
M10x25
/(9096 39)
S 0 WA 97 4
~ v T/ S
S = N 1 e
S -
vti%(/ 55
PN 00
D, . #20/10.5
(509637) (909638)
DET 33 DET 34
906644
506645
(909248) J
M10x 30
524 /13 g (s09629)
(980154) ) 220/10.5
= (909638)
& © ® M10
MT2x40 /& 9 ® |g——" (909637
(909109) < 902272
005299 L
DET 35 DET 36
‘ 902272
ﬁﬁ? it M10x25
= |o (909639)

S @20/10.5
=< (909638)

909519
= MT0

= 909637
ﬁ )

=

WinAm Groub / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

BASE

SPORT DATE: 29.4.2015 I 7 7(10)
DET 37 DET 38
@107 >90
AR\ NN I \
\\\\ N \\ 4 N
AY E\ Lmv §> ©
- ]
° =2 Q¢ 0
0o ) O
Qs I Qs 5 © o) Q
o © 5 M

x=> 100
o0 o0 o0

905817/ / | |
Betoni
e \m 906014 L_J
DET 39 DET 40
/055472
009628 @ |e| e
ﬂ MTOxT100
(909628)

DET 41

Esireika / Pre—drill hole.

@10 ] 90

N

—>

(= —

35 Nm

<« M10x100

DET 42

\ /\M

° o
RUSERRE
oo
° o} “os 02
° o nﬁ\

X

oo ot
0" 02 o
o
C
oe RS
°
0o | oo
o* 0"

\ Betoni / Concrete K30.

Safety surface

O
O
AN

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




N

WINAM GROUP BASE s
SPORT DATE: 15.8.2017 — LA 8(10)
DET 43 DET 44
904064 o
ﬁﬁ it M10x25 .
= = (909639)
< s @20 /10.5

(909638)

DET 46
7107 >90
ﬁO O
> O
Y ?
- 906114 90
M10x100 \Efﬁﬁge
DET 47 DET 48
316 /8.4 K
M10

(980150)

905112

MTOx100
(909628)

9095719

MTOXZ2D =
(909639)

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

BASE

SPORT DATE: 29.42015 — /A" 9(10)
DET 49 DET 50
O
O
O )
v X AN N
f o NN N\
ST [ ol v gl e o IR S
B Ie ’ 2lRea 8l 8igo
§7 = = ﬁ 1 Qs Q¢ OOOEO: Ocs Qe O
[ SN DN N °. %% @° OO/A\ROZD: °5
830 M10x100 /  \“Getiee
DET 51 DET 52
V107 >90
.
—O O
> O
7 Y
909628
906731 90
DET 53 DET 54 906/29
- M10%x25
- . (909639) \
¢20/10.5 /s
7 N (909638) AR
NN !E
290
909519

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE

SPORT DATE: 29.4.2015 — =/\"7" 10(10)
DET 55

STEELNET @6 #150 NOTL!
(1400%2100) Hox
Concrete

1500X2200X200 K30

O
O
A

T Qli

ISR ST TS T 5 IR

DET 56 DET 57
906 /50

VA S —

MTOx25
(909639)

(9096 38)

YA A A AV A/ A/ A/ A/ A/ A

M710O
<909657>
DET 58 DET 59

Esireikad
Pre—drill hole. ~

»10 J 90

M10x100 o if
35 Nm | O

——— 0, A

o-* h 0.0 0" g.o O 0.°
wWWwféw?%& K
\ Betoni / Concrete

Safety surface

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A
WINAM GROUP PARTS "
SPORT DATE: 26.8.2015 — —=/\7 41(10)
DET 1 DET 2
016 /8.4
@ 716 /8.4
) ‘ (909256)

|

1 /x60 =
(980123)

<

9§ "'
0)

905934
DET 3 DET 4 216 /8.4
o : M3 «
f two—sided

70502400 | oo Maras (009533)]  /(509256)

V8 screws 905956
(9W® (901899) ® 2 8y 35
@W6/8 4 / 5 / (909855)

: ’ S~ .
(909256) If two—sided
/N use M8x45
M&8x35 SCrews

(909855) el (901899)

Acryl+sticker Qﬁ/\g/////////

PETS 016 /8.4
(909256)

D/ x00 =
(980123)

DET 6

HTXEO0 216 /8.4

(980123) (909256)
906009

7

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP PARTS '
SPORT DATE: 26.8.2015 — —=/\"7 2(10)
DET 7/ DET 8 @24/W3
M8 724 /8.4 LG
(909633) (980152) @ ( )
M12X140
‘o \ (909246)
i MEx 30
(909852) 905105
],
DET 9 DET 10
/05049
716 /8.4
(909256)
/X60
(ém%
/ —_ /%60
906114 (/& (980123)
/05597
DET 11
0 /x60
705397 <98@W23>
716 /8.4
M10 (909256)
(905104) =@
@ /05392

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP PARTS ';
SPORT DATE: 26.8.2015 /A" 3(10)

DET 13 DET 14

O
216 /8.4 0
(909256)

@0/x60
(980123)

DET 15 DET 16
ox90
8X100 M
(509233) (980104)
332 /13.5 e 905830
(909253)
Place the logo laterall
M12 @24 /8.4
(902234)\ “ (909505)
DET 17 DET 18
Joxdu J %958%?84)
(980104 ) P
905830 905850

Place the logo laterdll

Place the logo laterall

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

A
PARTS '
SPORT DATE: 26.8.2015 — /A" 4(10)
DET 19 = = DET 20
fli \ M10x40

(901487)

@20/10.5x2

M10x35
(902252)

(901302)

(903193)
9§Q§57 220/10.5x2
( ) (901302)

19x21x25

M10
(909637)
DET 22
DET 21
’<> 705433
N 705434
Rad / 38x70
Huovioson sifitus (903193) (900240)
=%
=
DET 23 DET 24
032 716 /8.4

(980151)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



C

WINAM GROUP PARTS
SPORT DATE: 26.8.2015 & —/\"( 5(10)
DET 25 /3y 25 DET 26
(909850) ~ 1 216/8.4
- U (909256)
24 /8.4 \ 7460
(980152) (980123)
M8 -
(980160)\ | = /00459
NS ] 27x60
Ny e’ (980123)
DET 27 DET 28
716 /8.4
(909256)
9U6o// ) §;;> @760 <;;;;> e
. (980123) ™ ¢5 ?§
WoX60
15% 35 (980100)
980129 )
( ) v &
DET 29 DET 30
M8x30 <
902195
1 Ox 30 (909852)
, 906117/
(902233)
@24 /8.4
ﬁ\\\\\E 3 (980152)
R (F%
M10 5 S
— a/f%\\ is
MTOx55 J/x00
908006 (902252 (980123) 216,/8.4
(909256)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



N
WINAM GROUP PARTS
SPORT DATE: 24.6.2020 — LA 6(10)
DET 31 DET 32
Z
M8x40 = <
216/8.4 (909873) Z
(909256) Y
B7x60 “E _
(980123) 3
X 216 /8.4
705461 MS 909256)
(909633)
DET 33
216 /8.4
(909256)
B7x60 lg

(980123) \\wznzﬁs}'
O\

/05505

THE WATER HOLE J

DET 35

J3x060
« (906630)

/05520

3\ THE WATER HOLE

DET 36

90663/

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP PARTS v‘—;

SPORT DATE: 26.8.2015  =/\"C 7(10)
DET 37 DET 38
~
0 o
G7x60 /
/05568 (980123)
s 7 016 /8.4 | B @ﬁ@(\%
NS
MT10 3 (909256)
(905104) @ || g |&
&
/05568
DET 39 DET 40
906615
B 1 >
{ /&/}

8 ® O |
| ~ 3 @7x60 N

° (980123)
906613 @ — L 216 8.4
f; (909256)
DET 41 DET 40
M8x40
<9o§é75) MT0 MTOx55
7@558f>\\ﬁ (980161) (902232)
) v M1 0x30
) (902233)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PARTS "o

WINAM GROUP
SPORT DATE: 26.8.2005 =7\ 8(10)
DET 43 DET 44
ox60
Dox60 (980100)
@007,
}Zi;//
9005845 S /7
705406
DET 45 DET 46
8x60 N
(906630) \\\. S
/ I Q\\:f§§§$§?
° \\\\
S ) \
705098 WL
906147 ~fTTT111

NYEREE
/x40

(980106)

(980128)

el 4 ~_— DET 48

D5%x40 23970 705037

(980102) , (600240)

I
EISISAERE = > 905800 N \;§i§§:;§%§§
=7 « 257 60

= - \ “ (x2)

Huom!
Fsireika

Note:
Pre—drilled
hole.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP PARTS '»
SPORT DATE: 26.8.2015 © —/\7 9(10)
DE%S; (90%5?%) iQXQOZK) Me
(905112) (906767 (980160) 18y 45

(901899)

(980150)
316 /8.4
(980151)
MEx /0
(909267)
DET 51 M1 0% 30 V10%55 DET 52 @W6/804
902273 @322 (980151)
(905WW2>
MEx6H0
J57 <909097)
<905085>
P ) @
M8 B
902195 @
! M10 o
DET 53 DET 54

216 /8.4
909256)
VEx90

(
(

903093)
908019

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP PARTS Vo

SPORT DATE: 26.8.2015 ~ -/\(10(10)
DET 55 DET 56
® )
[ I o
[ )
[ |
I ]$ 906632
( I 9060652
— @ ﬂ
DET 57 DET 58
DET 59 DET 60

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333





